Efficiency vs Dxy(PV)

0.

b s R
"=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global__CMSSW_cki__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitLowPtQuad__RECO
[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_mKFitLowPtTriplet_ RECO

< 0.5

g
Soa
X

o

o

efficiency vs d
o
w

o
© N

%71 =0.6060402 0

040608 1
P dxy(PV) (cm)

[ S

—~

Efficiency vs Dz(PV)
—~ 05

PV

o

efficiency vs dz
o

o
S N 9O w

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 0.5

Z|
o
>

efficiency vs dz(P




	Contents
	Page 1


